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Quiz 5 Last Name:

Balance the following reactions using the smallest possible integer coefficients

1. 2 NHyg)+ 72 04(g) = % NO(g) + > H,0(g)

Nit 2 2 A NIL L 2 2
Hi3606 6 H12 66 6 2NHs(q) + %026 = 2006 + 3H09 4

Olda » » 5 Ol 4 5 5
4NHs) + 50209 = 4NO(@) + 6Ha09)  /
2. _ ammonium chloride (aq) = _ ammonia(g) + _ hydrochloric acid(aq)

Ny = Mg + Hle) /

N N{I
4 H4
@ | VIl
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6.1 Electromagnetic Radiation
Wavelength /Energy /Frequency — Qualitative
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6.1 Electromagnetic Radiation Wavelength  Frequency Energy
Wavelength /Energy /Frequency 3 y E
Relationships (m) (Hz) )

o 444107 7.21x10% 4.77x1019
510x107  5.85x10" 3.88x101
579107 5.45¢10M 3.41x1019
) 6.93x107  431x10M 2.85x101
N
AW = econshont
0)  298x10" ms’ 2.98x10° m.s" = speed of gt
) 2.98%0° m.s? W= C
ENV B = constany
3 6.61110°" T.5 .. Pancx's amslam) (W)
Q) 6.6|X107 Ts
B e.e\xl0 ' Ts E-hy
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6.2 Photons and Photon Energy
a) The Photoelectric Effect

6.2a Example_1

Heat lamps use infra-red radiation to keep food warm. A =2,600 nm,
What is the energy associated with this radiation in J.mol".
{c=2.98x108 m.s!, h=6.626x1034J.s, N=6.023x1023 mol!, 1nm = 1x10°m}

0) A must e un Melers.

3 - -6
a.euo,nm" 1X10 clm - 26X\0 m

| lom

M Cupcu pu&e s)gequenc]

M=c

2.6%10%m (V) = 2982108 m.s"

/.o 2%n0wst
2.6X1076 m’

11510 -

) Deteanine € for \Fw\ir&e E-h/

E:6.62600 1.5 (1i5n0™ 5”)

= 7.62%0° T

d)  ConerY E Yo e desived umks

E: 7621107 (6.023x10" md™)
= 4.6x10% Tt
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6.2 Photons and Photon Energy
a) The Photoelectric Effect

6.2a Example_2

1hJ = 1000 T

Radio waves lie in the 10 to 1,000 m range.
What is wavelength of a Radio wave that has an energy of 1.07x10-3°kJ
{c=2.98x108m.s1, h=6.626x1034J.s, N =6.023x1023 mol!, 1nm =1x10-2m}

Q) E wust ein T

1070l ¥RT| 1000 T - LoTET T
I W3
%) Cadeule the {requency E:hy
1L0TXI0 T = 6.626X(6°"3s (V)
Lo1X10" T _ 16Ix10°s

6.626%10°%4 s

<) Cﬂocugo}e the naveoma\h

M6’ s?) = 998 x10° m.s~

Ao A8 X10° m.s"

1.61x1b° s

-

d) Gomert \ 1o deciied Wi

b’o Neecl "6 heﬂe .

v

134 m

W=c
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6.4 Quantum Theory of Atomic Structure

Louis de Broglie (1892-1481)
//Pyam(_h‘s Cdnsrﬂmr

Ol obsecls have a loaw9m\3\\1 : A= N

_my
Hass \\’o»oci\'j
0) Basefloll - B Heclaon :
m = O.\44 \Rg m : ‘1.\0‘1X\o'3‘ h5
V..v...90 mph v 'he
A = \.2X\0'3“m A= 6 s\x\o‘“’m
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6.5 Modern Quantum Mechanics
Standing Waves

_____

Auoper WaveLEnGTHS :

2 1(ah)
A2
AN 3Gk Y. n(AR)
AA o (M) shere N=123 4. ek
%A .. 5(\a)
' Quamtzed

N ... a quamiun Numbcr
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